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Directions (1-5): 99 TS T1C T AT BT 3R IH UR MeTiRa us &1 IR

difsrgi
= faar mar urz =mé S 5 fafvs el § Afee Aacrarett &1 ufawd gxifar Bl
S Uig T1ial § ot Afgar Aagar 12000 § |

C, 30%

Q1.7Ta A 3R B fira®~ g uderarsit &1 an fara-n g afe 31 &t iial & o
AT (TS +HTEE) 7600 872

(a) 3760

(b) 3840

(c) 3950

(d) 3560

(e) 4020
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Q2. TiTa C 3R D A firaT®? $a afger gaerar &1 77d B iR E & e o ufean
AT ¥ 3uTd fba=n 32

(a)5:4

(b) 4:3

(©)6:5

(d)3:2

(e)2:1
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Q3.7MTd B 3R C ¥ fiamey Afgar aderarsii &1 3id, i D &1 Afgar Adagarsi &1
fa- ufaera g2

3
145-04

(a) 1
138 —104
b o

(c)
(d)

(e)
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Q4.7TTa A 3R C | fira®r $a1 uigar wdaerar, 7ia D 3R E firarss afger Aagarsit
31 faar ufaera 82

(a) 2200/7%

(b) 2200/9%

(c) 2100/19%

(d) 2100/11%

(e) 1900/9%
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Q5. Ife 7ia C | T¥W T Afgen Aagrarsii & 3Jurd 6 : 58 3R 7119 D | T¥9 &7
%rl%mnaa’maﬁﬁaﬁqﬁ4 . 38, dl 7id C & Yo, Td D & T3V &7 fora=1 wfa=ma
?

(a) 75%

(b) 125%

(c) 100%

(d) 80%

(e) 150%
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Directions (6-10)muﬁaﬁﬁﬁmwuﬁ&n$ﬁaﬁwfrmemaﬁ
STT 3. F& UKD 450 7. TS WR TR Uil 73R <.



W Physics

B Chemistry
Maths
English

B Computer

Q6. Fruferfad urg aré ® wWifawt fagm &1 ufa=ra faavor fosaen 82
(a) 20%

(b) 25%

(c) 30%

(d) 35% .

() 9 A BIS T8
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Q7. Fafafeaa 9 1 few fawa &/ faast 7 100 s ure f6a
(a) TIfOrd

(b) T faqm

(c) Hiferep ot

(d) PR _

(e) TTH A PIE T
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Q8. fa®t gRT Fugex 3R vifawt | sifvfa Fa s, T fage Sk oRish # aifsfa
$d 3! A fpan aiftre g2

(a) 30

(b) 40

(c) 50

(d) 60

(e) 45
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Qo. uTa fawal # fae gry sifvfa e siw foran 82



(a) 82

(b) 9o

(c) 95

(d) 76

(c) TTH ¥ PIS Tl
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Qu0. fr R & Ryt Y *% 7 aiw afdfa fard 22
(2) TG fagr

(b) PHX

(c) TIfOrd

(d) 3Tt

(e) 379 ¥ PIS T8l
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Directions (11-15):ﬁqwmaﬁﬁwuﬁaﬂwuﬁrﬂéﬁsooo FTUd P AR/H
Q faftra wef (F&3fh) W ST oayg 3R St gera ouifft et 2.

Food

120° Others
45°

105° 30° <\0°
o
Housing 60° ¢S

Savings

Q11. Fem ax frae @ fFam o &2
(a) 3000 T
(b) 5000 FI=x
(c) 4000 &I
(d) 7000 FI=x
(e) 7500 T
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Q12. HISe W TH FT qad § T Freterm 82
(@)3:2

(b)2:1

(c)4:3

(d)3:4

(e)2:3
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Q13. 7l A URaR &1 Fo @ fraar 22
(a) 40000 F9

(b) 48000 F9

(c) 45000 ®II

(d) 50000 ¥9&
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Q14. 3TaTH HT Joralt H ot W e sfeF @< frar o 22
(a) 1000 ¥
(b) 3000 ¥
(c) 2000 ¥9I
(d) 2500 9
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Q15. #¥steT, 3Ta 3R 3w W ua @ g 872
(a) 12500 ¥

(b) 14000 ¥9

(c) 10000 F9I

(d) 12000 ¥9&
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Solutions

S1. Ans.(a)
Total female voters from village A& B
=(12% + 209%) 1200
=32=120
= 3840
Total male voters = 7600- 3840
Sol, = 3760

S2. Ans.(c)

Sol.

Required ratio = (30% + 18%) : (20% + 20%)
=48:40

=6:5

S3. Ans.(c)

Required percentage

1

3 (20% + 309%)12000
~ 189% X 12000

25
=—x 100

18
1250

9
—1338%
B 9

X 100

Sol.

S4. Ans.(c)

Required percentage
_ (12%+30%)12000

"~ (18%+20%)12000

x 100

42
=—x 100

38

2100

Sol. 19

S5. Ans.(e)



Males from village C = 22 % 12000 x 2
100 5

Males from village D== 22 % 12000 x =
100 z

a
0=
Required percentage = P 2 x 100
2
=
= 150
Sol. %
S6. Ans.(b)
Required percent = 22 x 100 = 2504
Sol. 360
S7. Ans.(a)

100 marks is equivalent to % X 360 = 80°

-~ B0? is central angle for Math.
Sol.

S8. Ans.(c)
Difference in central angle = 160 — 120 = 40°

~ Required marks = % # 450 = 50 marks

Sol.
S9. Ans.(b)
Required aggregate marks = ? = 90 marks.
Sol.
S10. Ans.(c)
222
Central angle for 22.2% = ﬁ X 360 ~ 80°
80° resemble Maths.
Sol.
S11. Ans.(c)

Total saving = Rs. 8000
i.e., 60° =Rs. 8000
So, education

8000

=30° = Rs.4000

Sol.

S12. Ans.(b)
Expenditure on food = 120°

And saving = 60°

So,theratio=2:1
Sol.



S13. Ans.(a)
Family's total saving = 60°
And total expenditure = 300°
So, the value of 300°

Sol. = 8000 = 5 = Rs. 40000

S14. Ans.(c)
Expenditure on food = 120°
Expenditure on housing = 105°
Difference = 15°

Saving = 60° = Rs. 8000

So, 15° = E‘lﬂ = Rs.2000

Sol.

S15. Ans.(d)
Average expenditure on given items
1 270 3a0
=— X — X — x 8000
3 260 &0
= 12000

Sol.



